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10.

Answer ALL questions.

PART A — (10 x 2 = 20 marks)
Indicate the difficulties in using Geothermal energy.
What is a tide?
Define the term tariff.
List the methods of improve power factor.
State any four advantages of electric heating.
What is meant by energy efficient lamps?
Sketch the speed-time curve for a sub-urban service.
List the factors affecting scheduled speed of a train.
Define continuous rating of a motor.

Suggest suitable drives for lifts and cranes.
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PART B — (5 x 16 = 80 marks)

With a neat diagram, explain the working of a wind electric power

generating system. Also list the advantages and disadvantages of a wind

energy conversion system. (16}

Or

‘Write short note on :
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@

i)

Concept of distributed generation

‘Difficulties associated with conventional power generation systems.

(16)

What is the need for energy conservation? 8)

What are the various factors that influence the cost of production of
electrical energy? 8

Or

Describe the design for improvement of power factor using power

capacitors. 8)
Discuss about power quality problems. [€:)]
State and explain the laws of illumination. {6)

Discuss about the various factors that affect the design of lighting
system. [¢1V)]

Or

A 22 kW, single phase 220 V resistance oven employs circular
Nichrome wire for its heating element. The wire temperature is not
to exceed 1230°C and the temperature of the charge is 500°C.
Calculate the size and the length of the wire required. Take
radiating efficiency = 0.6 and specific resistance of the wire is
101x 106 Qcm. £=0.9. (10)

Write about welding transformer. (6}

2 66321




[image: image3.png]14, ta)

(b)

15. (&)

(b)

pes NV LLLG dpAAR L BTl m

(i) A suburban electric train has a maximum speed of 65 km/hr. The
scheduled speed including a station of stop of 30 secs is 43.5 km. If
acceleration is 1.3 kmphps, find the value of retardation when the

distance between the stations is 3 km. (8)

Or
@) Discuss the suitability of D.C. Motor for traction purpose. (8)
(i) Write a brief note on recent trends in electric traction. 8

What is load equalization? How is it achieved in practice? Derive an

expression for motor torque when load is increasing. (16}
Or

() Describe various modern methods of speed control of industrial
drives. (10}

(i) Suggest suitable drives for textile mill. Justify your answer. (6)
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